
6850 Middlebelt Rd.  •  Romulus, MI 48174  •  1-800-521-8104  •  Ph: (313) 933-5890  •  Fax: (313) 933-0440
www.michiganpneumatic.com  •  e-mail: mpt@michiganpneumatic.com

Michigan Pneumatic Tool, Inc.

MP-31DR-ST 1/4" Reversible Air Drill

02272017Rev2MME | NP

Index Part No. Description Qty.

1 78-7284P01 Motor Housing 1

2 PN02002208 Pin 1

3 78-728403 Air Inlet 1

4 78-728404 Trigger 1

5 76-728405 Valve Stem 1

6 78-728406 Valve Bushing 1

7 72807-12 O-Ring (4.5x2.5) 1

8 82208 Valve Spring 1

9 795820 O-Ring 2

10 78-728421 Reverse Lever 1

11 78-728411 Motor Gasket 1

12 30117-22 Spring Pin (1.5x4) 1

13 052213 Ball Bearing 2

14 78-728414 Rear End Plate 1

15 72815 Rotor 1

16 72816 Rotor Blades 5

17 522220 Spring Pin (2x15) 1

18 78-7281R18 Cylinder 1

19 78-7281R19 Front End Plate 1

20 051220 Ball Bearing (6000zz) 1

21 0728121 Ball Bearing (698zz) 1

Index Part No. Description Qty.

22 78-728410 Reverse Valve 1

23 OR01200105 O-Ring 1

24 78-728451 Decoration Ring 1

25 72825 Pin 2

26 78-7281R26 Cage 1

27 72827 Planet Gear 2

28
72828 Bushing 2

072835 Needle Bearing (4x5.5c6.5) 2

29 78-728408 Spring 1

30 52245 Steel Ball (3/32") 1

31 728131 Internal Gear 1

32 728132 Clamp Nut 1

33 72833 Washer 1

34
10059-11 Key Chuck 1

10059-22 Keyless Chuck 1

35 78-7281R25 Screw (L M5x25) 1

36 526328 Set Screw (M4x5) 1

37 OR01007105 O-Ring (10.7 x1.5) 1

38 78-728407 Exhaust Diffuser 1

39 78-728450 Damping Material 2


